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Math 1 Test Chapter 2, Practice Test

7. 3x=y=6
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1. Find the slope and y-intercept of cach line

6. 2x+7y =14



9. Through the points (<1, 1) and (3,9)
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Y= ~Lx+3 Y= 2x+3

Slope-intercept form:

Slope-intercept form:
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10. Through the points (2, -3) and (-3, -6) 11 o T S ) "” AY. 3
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Powt-slope form: y’% 5 ‘%(XIZX Point-slope form: Y'f 8 & -%<X-’)
or Yt b= Z(x4 3)

12. Convert cach equation to standard form: - A/, {eu 4 lens
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Standard form: ’“X‘*{y:"B Standard form: /7/X +7”'"/'f
or X—(yz:a‘,




13. You are reading a book and you currently have 300 pages left to read. You are able to read 15 pages each
bour. Wnite an %ion that represents how many pages (y) you will have left to read after x hours, Use your

equation 1o W many hours v hours until you have finished reading your book.
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14 You have $56 1o spend at the county fair. Rides cost $6 cach and snacks cost $4 cach. Write an gtmm'on
that represents the number of nides (x) and snacks (y) that you can buy. Use your cquanonw ctermine how
many snacks you can buy afyou do not L8O € on any nides. A ¢ /
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lin the sl for each line in the table:

Line Slope Parallel Slope Perpendicular Slope
ilS. Through (-3,2) and (1, -5)
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of each line {n polnt-slope form
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Parallel tothe line 2x+7y =3 Perpendicula
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